Yrk 3 O EE - REFTMETHE $£8%5
PR3 1435 H  [EEGESAR

M IE R — S5 T EOBAR NS |
TnEn 3F316H56TH ZBEAHEL,
WET 107{9T388AH8TH &¢4T5HLDTT,

ASEIOHIEIL, MHGWEFEIZLDIWMENES, FFHEFEICBIT 2HITHR
INRE B E 2 T e & | B~ DR 72 IO W TR E R TR O %
ITWE LT,



TH30EE MEA—RAHRETHE (E8S)

(WFEA (B FH)
TR 30FEE

= E7EMER #8E ESEMER

FHIZE fHIERE FHIRE
1 |BT#: 2,797,845 52,000 2,849,845
2 |MAESR 95,000 A 3,000 92,000
3 |FIFEIRfTE 6,000 A 1,000 5,000
4 |EBHIRMFE 10,000 0 10,000
5 |MRXEFEEMHIXRAE 7,000 0 7,000
6 |HAEHERR TR 480,000 0 480,000
7 |BEERESHRI NS 30,000 6,000 36,000
8 |EAEHEREFHERIABERAS 12,950 213 13,163
9 |MIARHIRGE 26,000 4,580 30,580
10 [#h5 3 {1 2,397,323 77,607 2,474,930
11 |RBLREXEKFANRTE 5,000 0 5,000
12 |[EERUVAEE 86,557 A 2,922 83,635
13 | R UFHH 140,063 A 2223 137,840
14 |EEZHE 1,414,930 A 27,861 1,387,069
15 |BEXHE 930,279 A 41,273 889,006
16 |BAZEURA 10,070 57,462 67,532
17 | &M< 25,004 15,000 40,004
18 [f@A& 698,111 A 66,200 631,911
19 |#gH&E 340,364 0 340,364
20 |EEANA 237,313 251 237,564
21 |ET{E 1,077,245 A 101,800 975,445
mASET 10,827,054 A 33,166 10,793,888
()& (B2 FF)

TR30EE

= E7EMER #8E ESEWER

FHIZE fHIERE FHIRE
1 |BRE 116,278 A 1,131 115,147
2 |HRHEE 1,670,891 267,623 1,938,514
3 |R&ZE 4,337,763 A 64,320 4,273,443
4 |BIEE 713,134 725 713,859
5 |HEE 1 0 1
6 |BMKEEE 305,346 A 18,425 286,921
7 |BITE 163,542 A 682 162,860
8 |xKE 921,018 A 88,889 832,129
9 |JHHE 450,246 A 6,016 444,230
10 |BEE 1,309,444 A 97,566 1,211,878
1 [KEERIBE 188,499 A 25343 163,156
12 | MEE 638,891 858 639,749
13 |EXEE 1 0 1
14 | FisE 12,000 0 12,000
&R 10,827,054 A 33,166 10,793,888




T30EE —RI|EFEFHE(E8S) BHFROBE (B FF)
FERE Bt R W R
No| &H =S EXE ] FHEERNE
;| E|B ERXHE |zothn| —iREHR
1 2| 1] 8 |mERREsEEEE 286377|  29517| 77.463| 179,397 ';ié?%gﬁﬁgé%gu*aﬁﬂﬁ':*é
fa -
, 2| o | 1 [roEmEBHEELS | o a0, BHEOBMIHSEHF HETEH
3 3011 %ig&{%ﬂﬁ%%ﬁ%ﬂ%% 70,022 27,127 42,895 RIREBRERHEF DL
4 3|12 ;‘g%géﬁ%%fﬁfﬁ% 9,444 8,720 48| 676 _¢ gfﬁﬁgjﬂ‘y’JﬁE&@I%%l:ﬂ
5 31| 6|BAIXBY—EREEE 51356 40,387 10,969 ﬁ*’;g?ffféffﬁ%ﬁé%gbtg
& :
| 13]
| & . .
6 31| 6|EERBHRIIESE 10,518 5,547 4,971 ;;’g&g%ﬁﬁﬂ%ﬁﬂ‘“mbtﬁ
8 3| 2|2 |RECELHBREREE |A 125962 A 91,981|A 30,000| A 3,981)-E#ERAHAIZIG LB & DiFEE
" o e mae i
0|5l X6 | 1|4 [enuEnzrses ss0| 4840 L PERISARRIBREOREL
T % 1
#
|8 | 2|2 | ERRHEIKERMZHIERUE . A [ e = g B 0 7 [
10[8| % BN EEE A 65923] A 37,532| A 25700| A 2,691 C%%z****ﬂ'“‘*°**ﬂﬁﬁ”“m
M E]8] 2|3 |HEERAEBRAEZ M) Bdais
10| & |10| 2 |1 S 1k 3 et b S0
1| & p PIRBERERERWE [ A 6073 A 32700 A 34273| BERAAIZHLE T BB O
| 2 |10| 3| 1
12 ge 11| 1] 1 gii*ﬁﬁ%ﬁﬁﬁﬁé%@la A 15226) A 14357| A 2,900 2031|-EEBRAAIZSLE-IEESOREE
1| &
—. i‘g
™ 18
13 £ 111 |2 |BEmEEMKEEEIREE| A 3,006 15,653| A 11,248| A 7411|- EERAAICHLI-TEEDREEE
14 — B (A - F 4 -/ FER) 6,784 3,920 4,107| A 1,243 mﬁi%ﬁ%aﬁ%%%@ﬁﬁ%ﬁ&%(:




